R:\A - Projects\Project Folders\Proj 1601-1700\PF 1679\Single Hung\FL-17088.dwg, FL-17088.2

WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

5400 Series
Vinyl Single Hung

Window
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010
Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind borne debris protection this
product is required to be protected with an impact resistant covering
that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the
same as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

B |WIN|—

Bill of materials, components & glazing details

WIDTH

54" MAX. O.A. FRAME WIDTH
49.5" MAX. D.L.O.

84" MAX. O.A. FRAME HEIGHT

//
Va
O
/
Va
i /
_ /
2o X
i
//
Va

813.659.9197
Fas~

Florida Board of Professional Engineers

Certificatez

=

P.0. Box 230 Vailrico FL. 33595
f Authorizajion No. 9813

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

;{

e

7.

Lyndon F. Schmidt, P.E. No. 43409

5400 SERIES
Vinyl Single Hung Window

PART _OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

8/25/14 |REVISED REINFORCEMENT

1

NOJ DATE

REVISIONS

oATE: 6/22/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

48.0" X 72.0" 43.5" X 32.7§" G1 +50.0 -55.0 36.0" X 84.0" 31.5" X 38.75" G1 +30.0 -35.0
52.0" X 48.0" 47.5" X 20.75" G1 +35.0 -45.0 52.0" X 68.0" 47.5" X 30.75" Gli +25.0 -30.0
32.0" X 80.0" 27.5" X 36.75" Gl +35.0 -40.0 48.0" X 74.0" 43.5" X 33.75" Gl1 +25.0 -30.0
54.0" X 56.0" 49.5" X 24.75" Gl +30.0 -35.0 44.0" X 82.0" 39.5" X 37.75" Gl +25.0 -30.0
52.0" X 58.0" 47.5" X 25.75" G1 +30.0 -35.0 40.0" X 84.0" 35.5" X 38.75" G1 +25.0 -30.0
40.0" X 74.0" 35.5" X 33.75" Gl +30.0 -35.0 54.0" X 84.0" 49.5" X 38.75" Gl1 +20.0 -25.0

DRAWING NO.:
FL-17088.2

SHEET _1 oF 5

© 2014 R.W. BUILDING CONSULTANTS INC.



CONE SINYLINSNOD aNIgTInNg "M°d 102 @

60¥CH ‘ON “I'd IPIIYDS ‘4 uopukq SNOISIATY
St ST T A SNOLLOZS >=0ud 8 3V TONf«| | || Yo
: A ININIOHOINIZY a3SIN3Y| vi/sz/8 | L ITluilX|ic| @
£186 "oN fonpzuoypy O ejooyeD - N2 lB S ©fw
sioeuibul |DUOISEB0I4 JO piDOE DPLIOIY -ATBNISSY ¥0 Ldvd ﬂ N m .n/u ©
LBL6'659°CLE "ON ®uoud - Ny
GBSEE ™4 OSUIDA OCZ Xog "O'd \Sﬁ&a mopuiy buny ajbuis |Auip W AElEle l__ _
"ONI ‘SINVLINSNOD ONIGTNG S3IH3IS 00vS i m 6|y w gl
:Ag pespdeidq sjuswinoog -10Na0¥d HEIREE %
o
// AN T <
\\ VH.. W - . ..vw v a® O
LR s ,v‘ . o "
e a % [ T LA [ T3]
s S & C (72
@ 2
N - NC 8
< = Ul
o Yo Q
Q = (- |2
ol : S
o~ —
) (—] gl 2>
= o 1724
w
) mw
- o 1 # &
< O o
o &= &
(a] T_LH-— —_
H Z © n]
v
-—
" v e nNu
vv . v ..v. > . e ..V.... ,1 m
‘ Wp... vV, ° - i N g
alz
Za &) -t O|s
=E I o2
Jad (- =~ O
T w © M m
— [
20
HE
w
= |5
Z # # ©
<C NN
o
(=]
H 0
w
o
S o
o &
z =
Z [}
—
= 0
<
o
[a
e 4 % -
&)
° =
o 1=/1= VI
Z O
0 w0
o &
- z w m
L] Gl
OIS
. — O | 22
== P>
o = 2
2 (e S
—~ & W
Q|8
..q v w.u ._.v > H v
R .q..A,v. . Ll (2]
v N o A

T'C "Bmp 880£ 1-14\BUNH 8iBuIS\6/91 3d\00LL-1091 oid\siepjod josloid\sjoalold - Y\1y



CON| SINVLTINENDOD SNIaQTHNE "M'H P L0OZ2 @

60¥SF ‘ON ‘I'd "WPIUYDS °j Uopuky SNOISIATY
Arind 2T sogegee L e AN
c1a6 ON oSBT 0 #1090 P INIFNFOHOINZY a3sinad| vi/sz/e | L |(9|X|L| S|,
sso0uibug |DUOISS9jOIY pipog DPLIOl4 SATENESSY H0 Ldvd ﬂ m 3 —n/u o
616°659°C1L8 "ON suoyd Z M
mmmnn\wr. OOUIDA OEZ Xo8 ‘O°'d \N\h@ mopuipy buny sbuis JAUIA W Aglgle T _
“ONI ‘SINVLINSNOD ONIGINg SIS 00%S ] w g|x|2 vl
:Ag peiodeud sjpuswinsog 10NQodd 3 2|58 %
(¢4
o
o4
E~
Zz
o) (o) \&
<
O
G
ol 3
Al T
- A @ O m
] . o agi o
e Ul
’ ,vqu. . N— m
AR U\
[ ST frowed N
A Bl
. wio
— ﬁl T .n. V%
o) 2 (= L R
W . g ™|
o
o
o
[T
- < V.M m E
o = % >
) z o
. 0. |
PP = 9 S
4,, .. q. 4.. [ | . “ m
e B _ al. Z ('dAL) "gw3
. .‘.<,44.. m m .2_2 :ﬁ\*.lﬁ
-. .4 A. . C 0
IR |_ * -z o) o) \&
,c:. ) m w Laned p—
R B el 3E z
. w =~
: >|5 o
] [IN]
1% o
-— o] - e
o o mw __!_ T Al
= N o v Ol
EVAL 7 A ‘..« o .w
v " L Ol
wall | ON
~
v.q. m W
[ 4 v —" e
- oz W
- v wi ©
- ~0 & 71 T "o > m
O ~ _ﬁlm.. e
= . V ’ V d mw
ne ‘" e .
D e
&
: (=)
(W]
("dAL) “aw3 o
‘NIW F/1-1 ®)
(24
e
4
=
o)
[
Q
o
(72
3
o]l
&) 3
Ol
k| ON
S~
1 m S
v =% =le
a3
w|
- >
(274
o}
&
s

Z'¢ "BmMp'eg0/ L-T\BUNH @BUIS\6£91 3d\0021-1091 foid\siopjod joaloid\siosloid - V\:¥



R:\A - Projects\Project Folders\Proj 1601-1700\PF 1679\Single Hung\FL-17088.dwg, 4.2

16.5" MAX. O.C.

(TYP.) &

(TYP.)
IESEEEEE ‘
=
] f
: h = E
£ <>
., A
*

2X BUCK

5

2X BUCK L
MASONRY—\"\

[ = MASONRY
OPENING % - % OPENING
=~
T~ 20
v o]
oo : | .l
N . '-...‘ « « '.:-_‘ ~ <
N < 'R “ \’

BUCK ANCHORING

*Anchors indicated are required for Design Pressure > 45 psf only.

CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have
different edge distance and center distance requirements.

2. Concrefe anchor locations at the corners may be adjusted to maintain
the min. edge distance fto mortar joints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted to maintain the min. edge
distance to mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

mw 1/4" 1-1/4" 2.1/ 4"

ELCO 1/4|| 1 _1/4" nlu 4

FRAME

)

FRAME ANCHORING

2X Buck

1XBUCK
FRAME

MASONRY
OPENING

DIRECTTO
MASONRY

IXBUCK

FRAME ANCHORING

1X Buck
Direct o masonry

in P )
% Sn\i\g
Oom cyr 49
z 53 (,,*
- g g .
LEEFIE:
o5z
THEEA
B a\|
25>k 2% R
n - @8 -
Zow otT he)
;‘Oﬂ “ 0 E
mow*:ﬂ-:ﬁ\;
[+] & ]
g%éz'ﬁxw
5§89 .2%5 u
O.—QOD
E:”": 0 o 8
mmn.n.ms S
o 0 <
8 g ok >
14 TP
[ O @
PR
=]
(3]
[+]
o
EY
S
-: Q
s =
) [V
W o [=Ye)
FER LR
O |5 Z
ol X<
L |15 O
O |4 D
e jun m3
051 2
Elo= |l ™
S| & |°
=
= =
2 S
o o
>_
m
5
i
= )
gl 8
m Py
S| [
[re
= B
Wl |
o
s
(74
s
n
R
ED
e
DATE: 6/22/14
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-17088.2
SHEET 4 oF _5

© 20114 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601-1700\PF 1679\Single Hung\FL-17088.dwg, 5.2

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1XBUCK SG >=0.42 WOOD
B 2X BUCK SG >=0.42 WwOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F #8 X 2" PFH WOOD SCREW STEEL
J 1/4" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
1 FRAME HEAD AND JAMB* PVC
2 SILL* PVC
S SASH STILE* PVC
6 GLAIZING BEAD* PVC
9 LOCK RAIL LOWER SASH* PVC
10 STAYBAR* PVC
12 BOTTOM RAIL LOWER SASH* PVC
16 WEATHERSTRIP ULTRA FAB .270 PILE - 270 -18758 -

17 WEATHERSTRIP SILLBULB (AMESBURY 32690) -
20 [LOCK 8513 /8845 LAWRENCE PVC
21 KEEPER 2700 - 214 LAWRENCE PVC
23  |#6 X 3/4"PFH (VINYL LOCK SCREWS) STEEL
24 | SASHTILT LATCH - ASHLAND PVC
26 | #6 X 1/2'PFH (VINYL LOCK SCREWS) STEEL
30 |REINFORCEMENT (FIXED MEETING RAIL) ALUM. 6063-Té ALUM
31 REINFORCEMENT (MEETING RAIL) ALUM. 6063-T6 ALUM
32 |REINFORCEMENT (SASH STILE) ALUM. 6063-T6é ALUM

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

3.5"

e S I

-]

| Y
——T|
- 1.88" —l

@ FRAME HEAD & JAMB

1/2" GLASS

BITE

A\

flimy

@ GLAZING DETAIL

— 1.43" T

1.16"

/— AlIR SPACE
/—
Lo

1.04"

(o}
0.06" ——s—{|=— F

|

GLAIZING TAPE

1/8" ANNEALED

1/8" ANNEALED

INTERCEPT SPACER

0.7¢"

0.06"

==

=— 0.34"

E

( ) GLAIZING BEAD
'<'l.16" *1

—]
@ ~— 0.06"

( : ) SASH STILE

—=f |=—03"

LOCK RAIL
Lower Sash

. 3

L o

@

o

30 REINFORCEMENT
FIXED MEETING RAIL

0.82"

[——— 0.370"
0.05"

|t 0.56"

H
]

<: :) BOTTOM RAIL
Lower Sash

i

281

o

0.351

*T

REINFORCEMENT

31 REINFORCEMENT 39

MEETING RAIL

SASH STILE

P25 e

zation, No. 9813

Certificate Of 2#‘;

P.O. Box 230 Valrico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197
Florida Board of Professional Engineers

Ry

Documents Prepared By:

5400 SERIES
Vinyl Single Hung Window

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
COMPONENTS & GLAZING DETAILS

JK
Y

8/25/14 |REVISED REINFORCEMENT

NOJ DATE

1

REVISIONS

DATE: 6/22/14

SCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL—17088.2

SHEET _ 5 oF _5

© 2014 R.W. BULDING CONSULTANTS INC.



